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The graph shows displacement vs time for a damped oscillation. The time
constant t, in this case is nearest to

A) 1s B) 3s C) 5s D) 7s E)9s

EXTRA: Can you find t, exactly?
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The graph shows displacement vs time for a damped oscillation. The time

constant t, in this case is nearest to A =6 ) x=8em. Mi=2¢ ,xbem.
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Simulation or demo of damped oscillation
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An object with mass 2kg oscillates on a spring with a small amount of damping.
a) What is the damping constant b?

EXTRA: What is the spring constant k?
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An object with mass 2kg oscillates on a spring with a small amount of damping.
a) What is the damping constant b? SJ"P t —f\nA b
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EXTRA: What is the spring constant k? ° ’
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An object with mass 2kg oscillates on a spring with a small amount of damping. 2 '
Aer '-SMAN T = Zs So L = -3'8
a) What is the damping constant b?
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Objects with the masses shown each sit in
equilibrium on different springs, all with
spring constant 200 N/m and damping
constant 1 kg/s. If we turn on a driving force
with frequency f = 1.59 s, which mass will
oscillate with the largest amplitude?

A) 1
B) 2
C) 3
D) 4

E) 5



Objects with the masses shown each sit in
'5k, 2ks, '~5k9 "‘9 0.5ke equilibrium on different springs, all with
spring constant 200 N/m and damping
constant 1 kg/s. If we turn on a driving force
with frequency f = 1.59 s, which mass will
oscillate with the largest amplitude?
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B) 2
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